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1. The ratio of the cost price and selling price

of a bulb is 15 : 18. What is the profit per-

centage?

15 : 18

(A) 16.66 (B) 14.28

(C) 20 (D) 22

2. The ratio of the cost price and selling price

of an article is 5 : 3. What is the loss per-

centage?

5 : 3

(A) 40 (B) 20

(C) 66.66 (D) 33.33

3. A shopkeeper sells an article for ` 78 and

earns double the profit that he would have

earned had he sold it for ` 69. What is its

cost price?

` 

`

(A) ` 60 (B) ` 55

(C) ` 61 (D) ` 61.5

4. By selling an object for ` 900 a man earns

double the profit of what he would have lost

had he sold it for ` 450. If he sells it at a

profit of 20%, find his selling price.

` 

`

(A) ` 720 (B) ` 618

(C) ` 550 (D) ` 600

5. By selling a table for ` 350 instead of ` 400,

loss percent increases by 5%. The cost price

of the table is.

` `

(A) ` 1050 (B) ` 417.50

(C) ` 435 (D) ` 1000

6. If a person sells a thing for ` 530 at some

loss and the loss becomes double when he

sells it for ` 510. Find the C.P. of the thing.

` 

` 

(A) ` 540 (B) ` 550

(C) ` 530 (D) ` 555

7. A person gets some profit when he sells a

thing for ̀  400. If he sells it for ` 500 then the

profit is 5 times than the pervious profit. Find

the C.P. of that thing

`
`

(A) ` 445 (B) ` 440

(C) ` 450.5 (D) ` 375

8. Profit after selling an article for ̀  717 is 
1

11 %
9

of the loss incured when it is sold at ` 527.

What would be the selling price if he wants

to earn a profit of 10%.

` `

1
11 %

9

(A) ` 678.7 (B) ` 577.7

(C) ` 398.7 (D) ` 979.7

9. The profit on selling an article  for ` 1,100  is

equal to three times the amount of loss on

selling it for ` 700. To gain 12.5%, the article

must be sold for:

` 1,100 

` 700 12.5%

(A)  ` 900 (B)  ` 787.50

(C)  ` 956 (D)  ` 877.50

Profit & Loss
(Type-2)
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10. On selling an article for ` 115, the gain is
20% more than the loss incurred on selling it
for ` 104. If the article is sold for ` 130.80,
then the profit percentage is:

` 115 `
104 20% `
130.80 

(A) 25 (B) 18
(C) 30 (D) 20

11. Profit obtained on selling an article for Rs 310
is equal to the loss incurred on selling that
article for Rs 230. What will be the loss per-
centage when selling price is Rs 180?

(A) 
1

16
3

(B) 
2

16
3

(C) 
1

33
3

(D)
2

33
3

12. On selling an article for ` 123.40 the gain is 20%
more than the amount of loss incurred on selling
it for ` 108. If the article is sold for ` 120.75, then
what is the gain/ loss percent ?

` 123.40 ` 108

20% 

` 120.75

(A) Gain/  2.5% (B) Gain/  5%

(C) Loss/  2.5% (D) Loss/  5%

13. Anu sold an article for ` 480 at some profit. Had
she sold it for ` 400, then there would have been a
loss equal to one-third of the initial profit. What
was the cost price of the article ?

` 480 `
400

(A) ` 450 (B) ` 430
(C) ` 425 (D) ` 420

14. The profit made by selling an article for ` 8,800 is
equal to the amount of loss incurred on selling the
same article for ` 7,200. What will be the profit
percent. If it was sold for ` 9,600 ?

` 8,800 

` 7,200

` 9,600 

(A) 20% (B) 25%
(C) 18% (D) 15%

15. The difference between cost price and sell-

ing price is Rs 575. If profit percentage is

23%, then what is the selling price (in Rs)?

575

23%

(A) 3225 (B) 1925

(C) 2500 (D) 3075

16. For an article the profit is 170% of the cost

price. If the cost price increases by 20% but

the selling price remains same, then what is

the new profit percentage?

170% 

20% 

(A) 41 (B) 50

(C) 75 (D) 125

17. Profit obtained on selling an article for Rs 540

is equal to the loss incurred on selling the

article for Rs 370. If selling price is Rs. 910,

then what is the profit percentage ?

540 370 

910 

(A) 16
2

3
(B) 33

1

3

(C) 50 (D) 100

18. An article is sold at a profit of 32% . If the

cost price is increased by 20% and the sale

price remains the same, then thee profit per-

centage becomes?

32% 20%

 (CDS 2018(I))

(A)  10% (B)  12%

(C) 15% (D)  20%

19. A person selling an article for ` 96 finds that

his loss  percent is one-fourth of the amount

of rupees that he paid for the article. What

can be the cost price ?

` 96 

        (CDS 2014(II))

(A) ` 160 (B) ` 240

(C) ` 160  ` 240

(D) ` 160 ` 240
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20. A person sold an article at a loss of 16%. Had
he sold it for ̀  660 more, he would have gined
8%. If the article is sold at ` 30,80 then how

much profit percentage is gained ?

16% 

` 660 8% 

` 3,0,80 

(A) 20% (B) 15%
(C) 12% (D) 10%

21. An article was sold at a loss of 13.5%. If it was
sold for ` 1,104 more, than there would have
been a profit of 9.5%. The cost price of the

acticle was :

13.5% 

 ̀  1,104 9.5% 

(A) ̀  4,200 (B) ̀  4,800
(C) ̀  4,600 (D) ̀  4,400

22. A person sold a chair at a profit of 13%. Had he

sold it for ̀  607.50 more, he would have gained

x%. If the cost price of the chair is ` 3750,

then the value of x is :

13% `
607.50 x% 

` 3750 x 

(A) 30 (B) 32 (C) 28.4 (D) 29.2

23. A watch was sold at a profit of 10%. Had it been

sold at ̀  77 more the profit percent would have

been 12%. The cost price of the watch is :

10% ` 77 

12%

(A) ̀  3,760 (B) ̀  3,850

(C) ̀  3,945 (D) ̀  3,900

24. A trader gets 25% profit by selling an article.

If he buys at half the rate and sells at the same

selling price as before, then what will be his

percentage profit?

(A) 50 (B) 100

(C) 125 (D) 150

25. By selling a fan for Rs 1900 a man has a loss

of 5%, then at what price (in Rs) should he sell

the fan to gain 20%?

(A) 2000 (B) 2400

(C) 2600 (D) 2800

26. On an article the profit is 230% of the cost

price. If the cost price increases by 50% but

the selling price remains constant, then what

is the new profit percentage?

(A) 54.54 (B) 80

(C) 120 (D) 150

27. By selling a table for Rs. 2700 a man gets

10% loss and then at what price (in Rs) should

be shell to gain 
1

33
3

%?

1
33

3
%

(A) 3000 (B) 3300

(C) 3600 (D) 4000

28. An article is sold at a profit of 50%. If the cost

price is doubled and the selling price is

halved, then what will be the new profit or

loss percentage?

(A) 62.5 Loss 62.5 

(B) 62.5 Profit 62.5/

(C) 37.5 Loss 37.5/

(D) 37.5 Profit 37.5/

29. By selling a pen for Rs 105 there is a loss of

30%. At what price (in Rs) the pen must be

sold in order to gain 30%?

(A) 215 (B) 165

(C) 195 (D) 200
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30. A T.V. is sold at 8% gain. Had it been sold for ` 714
more, the gain would have been 15%. To gain 18%,
the selling price of the T.V. should be :

8% ` 714

15% 18% 

(A) ` 12,138 (B) ` 12,036
(C) ` 11,934 (D) ` 12,240

31. A dealer sold an article at a loss of 2%. Had he
sold it for ` 44 more, he would have gained 20%.
Find the cost price of the article.

2% ` 44

20%

(A) ` 250 (B) ` 400
(C) ` 200 (D) ` 300

32. An article is sold at a certain price. If it is sold at

1
33 %

3
of this price, there is a loss of 

1
33 %

3
. What

is the percentage profit when it is sold at 60% of
the original selling price ?

1
33 %

3

1
33 %

3
60% 

(A) 20 (B) 30

(C) 
1

33
3

(D) 
1

17
3

33. A man sells his goods at a certain price, 20% of
which is his profit. If the price at which he buys
the goods increases by 10% and he sells them at an
8% higher price, then what will be his profit per-
cent (correct to one decimal place) ?

20%

10%

8%

(A) 21.8 (B) 23.4
(C) 21.4 (D) 22.7

34. If a vendor sells a coconut at ` 14.4 he makes
10% loss. If he wants to make 25% profit, then
at what price (in Rs) should he sell?

` 14.4 10%

25% 

(A) 18 (B) 20
(C) 16 (D) 22

35. Ram sold a motorcycle at ` 70000 at 25% profit.
For what price should he sell a motorcycle to gain
30% profit ?

` 70000 25% 

30% 

(A) ` 72,900 (B) ` 72,800

(C) ` 72,600 (D) ` 72,700

36. Kishore had a loss of 20% on selling an article for
` 7,160. At what price should he have sold the item
to make a profit of 30%

` 7,160 20% 

30%

(A) ` 11,635 (B) ` 12,007

(C) ` 10,678 (D) ` 8,988

37. A man sold his furniture at a 25% gain. Had he
sold it is 15% loss, he would have received ` 800
less. Find cost price of the furniture.

25% 

15% ` 800 

(A) ` 2,500 (B) ` 1,500

(C) ` 2,000 (D) ` 3,000

38. The percentage profit earned by selling a mobile
for ̀  12,000 is equal to the percentage loss incurred
by selling the same mobile for ` 9,000. At what
price should the mobile be sold the make 20%
profit.

` 12,000

` 9,000

20% 

(A) ` 18,000 (B) ` 16,200

(C) ` 12,600 (D) ` 15,400

39. Amit sold an article for ̀  7,000 and incurred a loss.
Had he sold it for ̀  8,750, his gain would have been
three-fourth of the amount of loss that he incurred.
At what price should he sell the article to get 10%
profit ?

` 7,000 

` 8,750

10% 

(A) ` 7,800 (B) ` 8,400

(C) ` 8,000 (D) ` 8,800
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40. When an article is sold for ` 720, there is a profit
of x%. When the same article is sold for ̀  750, profit
is (x + 5)%. What is the value of is the value of x ?

` 720 x%

` 750 (x + 5)%

x 

(A) 20 (B) 18

(C) 25 (D) 15

41. A person sold an article at a loss of 8%. Had he

sold it at a gain of 10.5%, he would have re-

ceived ̀  37 more. What is the cost price of the

article ?

8% 

10.5% ` 37 

(A) ̀  200 (B) ̀  250

(C) ̀  240 (D) ̀  210

42. An article is sold for ̀  x. If it is sold at 
1

33 %
3

 of

this price, there is a loss of 20%. What is the

percentage profit when it is sold for ` x ?

` x
1

33 %
3

20% ` x

(A) 40% (B) 25%

(C) 30% (D) 20%

43. A person sells wheat at a profit of 30%. If he
reduces its selling price by Rs.60, then he
suffers a loss of 10%. What was the initial
selling price (in Rs.) of the wheat?

30%

60 10%

(A) 195 (B) 210

(C) 180 (D) 130
44. Anu fixes the selling price of an article at 25%

above its cost of production. If the cost produc-

tion goes up by 20% and she raises the selling

price by 10%, then her percentage profit is (cor-

rect to one decimal place) :

25%

20%

10%

(A) 13.8% (B) 15.2%

(C) 14.6% (D) 16.4%

45. An article was sold at a gain of 16%. If it had
been sold for Rs. 36 more, the gain would have
been 20%. The cost price of the article is

16% 36

20% 

(A) Rs. 862 (B) Rs. 900
(C) Rs. 720 (D) Rs. 810

46. A shopkeeper sells an article for 10% profit.

If he buys it for 4% less and sells it for 
3

18
4

%

profit then he gets ` 10 more. What is the

original cost price?

3
18

4
% `

(A) ` 250 (B) ` 200

(C) ` 255 (D) ` 201

47. A shopkeeper sells an article at 20% profit.

Had he bought it for 10% less and sold it for ̀

12 less, he would have earned 30% profit.

What is the actual cost price?

` 

(A) ` 400 (B) ` 500

(C) ` 450 (D) ` 600

48. A shopkeeper sells an object for 25% profit.

If he buys it for 25% less and sells it for ` 25

less then he earns 25% profit. What is the

original cost price?

` 

(A) ` 80 (B) ` 79

(C) ` 40 (D) ` 70

49. A person sells an article at a profit of 10%. If

he had bought it at 10% less and sold it for `
3 more, he would have gained 25%. Find the

cost price.

` 

(A) ` 120 (B) ` 150

(C) ̀  175 (D) ̀  225



Mother's Arithmetic • Profit & Loss

6Competitive Exams Pdf Notes Previous Years Questions 
"MATHS With PAWAN RAO" Join

50. A man sells an article at 10% profit. If he buys

it for 10% less than its value & sells it for ` 3

more than its first selling price he will gain

25%. Find the cost price of the article.

` 

(A) ` 120 (B) ` 125

(C) ` 100 (D) ` 128

51. A person sold  an article at a loss of 16%.
Had he sold it for ` 660 more, he would have
gained 8%. What should be the selling price

(in `) to gain a profit of 12% ?

16% 

` 660 8% 

12% ` 

(A) 3,080 (B) 3,200
(C) 2,750 (D) 2,970

52. A man bought an article and sold it at a gain
of 10%. If he had bought the article at 20%
less and sold it for ̀ 1,000 more, he would have
made a profit of 40%. The cost price of the ar-
ticle (in ` ) is :

%

% `

% `

(A) 50,000 (B) 60,000
(C) 25,000 (D) 40,000

53. A man bought an article and sold it at a gain
of 10%. If he had bought the article at 20%
less and sold it for ` 1,000 more. he would
have made a profit of 40%. The earlier selling
price of the article (in `) is :

10%

20%

` 1,000 40% 

` 
(A) 40,000 (B) 50,000
(C) 60,000 (D) 55,000

54. A trader sold an article at a gain of 20%. Had
he purchased it for 40% more and sold for Rs
24 less, then he would have incurred a loss
of 20%. What is the cost price (in Rs) of the
article?

(A) 150 (B) 300

(C) 450 (D) 600

55. Remi earns a profit of 20% on selling an ar-

ticle at a certain price. If she sells the articles

for ` 8 more, she will gain 30%. What is the

original cost price of  16 such articles ?

20%

` 8 30%

16

(A) ` 1,280 (B) ` 1,120

(C) ` 1,152 (D) ` 1,200

56. A person sells an article at 16% below its cost price.
Had he sold it for ̀  33 more, he would have gained
14%. To gain 25%, he should sell the article for :

16%

` 33 14%

25%

(A) ` 128 (B) ` 137.5

(C) ` 135 (D) ` 130.5

57. An article is sold at profit of 30%. If both cost

price and selling price of the article are de-

creased by `100, the profit now would be

45%. The original cost price of the article is :

`

(A) ` 400 (B) ` 250

(C) ` 300 (D) ` 500

58. A person sells a pen at 15% profit. If he

had bought it at 7% less price and sold it

for Rs 250 more, then he would have gained

25%. What is the cost price (in Rs) of the

pen?

15%

7% 250

25%

(A) 20000 (B) 18000

(C) 25000 (D) 23000

59. A person sells an article at 10% below its cost

price. Had he sold it for ` 332 more, he would

have made a profit of 20%. What is the origi-

nal selling price (in `) of the article ?

10%

` 332 20%

`
(A) 1,328 (B) 996

(C) 1,028 (D) 896
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60. A person sells an artical at a profit of 12%. If

he had pruchased it for 12% less and sold it

for `9 less, he would have gained 27%. What

is the original cost price of the article?

`

(A) ̀  4,250 (B) ̀  4,000

(C) ̀  4,500 (D) ̀  3,750

61. A person sold an article at a loss of 8%. Had he

sold it at a gain of 10.5%, he would have re-

ceived ` 92.50 more. To gain 12%, he should

have sold it for.

(A) ̀  540.50 (B) ̀  560

(C) ̀  580 (D) ̀  537.40

62. A trader sold an article at profit of 20%. Had

he bought that article at 60% less price and

sold it at Rs 90 less, then he would have gained

50%. What is the value (in Rs) of cost price?

(A) 150 (B) 200

(C) 250 (D) 300

63. A man purchases some no. of oranges @ 25

oranges for ̀  1. How many for a ̀  did he sell to

gain 25%.

` `

(A) 20 (B) 25

(C) 18 (D) 22

64. By selling 32 oranges for a ` a man loss 40%.

How many for a rupee did he sell to earn 20%

` 

`
(A) 15 (B) 22

(C) 18 (D) 16

65. By selling 45 oranges for ̀  40 a man loss 20%.

How many did he sell for ` 24 to earn 20%.

` 

`
(A) 18 (B) 11

(C) 14 (D) 19

66. By selling 64 apples for Rs 60 a person gains

25%. In order to have 40% loss, how many

apples shall he sell for Rs 36?

(A) 80 (B) 70

(C) 60 (D) 50

67. Reema sold 48 articles for Rs. 2,160 and suf-

fered a loss of 10%. How many articles  should

she sell for Rs. 2,016 to earn a profit of 12% ?

2,160 48 10% 

12% 2,016 

(A) 36 (B) 40

(C) 28 (D) 32

68. An article was sold at a certain price. Had it

been sold at 4/5 of that price, there would have

been a loss of 10%. At what profit percentage

was the article sold initially?

4/5 10%

(A) 10.5 (B) 15

(C) 12.5 (D) 10

----------------Answer----------------
1. (C) 2. (A) 3. (A) 4. (A) 5. (D)

6. (B) 7. (D) 8. (A) 9. (A) 10. (D)

11. (C) 12. (B) 13. (D) 14. (A) 15. (D)

16. (D) 17. (D) 18. (B) 19. (C) 20. (C)

21. (B) 22. (D) 23. (B) 24. (D) 25. (B)

26. (C) 27. (D) 28. (A) 29. (C) 30. (B)

31. (C) 32. (A) 33. (D) 34. (D) 35. (B)

36. (A) 37. (C) 38. (C) 39. (D) 40. (A)

41. (A) 42. (D) 43. (A) 44. (C) 45. (B)

46. (A) 47. (A) 48. (A) 49. (A) 50. (A)

51. (A) 52. (A) 53. (D) 54. (B) 55. (C)

56. (B) 57. (C) 58. (A) 59. (B) 60. (D)

61. (B) 62. (A) 63. (A) 64. (D) 65. (A)

66. (A) 67. (A) 68. (C)
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1. (C) Profit% = 
18 –15

15
 × 100 = 20%

2. (A) Loss% = 
5 – 3

5
 × 100 = 40%

3. (A) Let C.P. = x


69 – x

78 – x
=

1

2

 138 – 2x = 78 – x

 x = 60

4. (A) Let C.P. = x


x – 450

900 – x
=

1

2

 2x – 900 = 900 – x

 3x = 1800

 x = 600

 C.P. = 600

 S.P. = 600 × 
120

100
 = 720

5. (D) 5%  400 – 350 = 50

 1  10

 100%  1000

then C.P. = 1000

6. (B) Let CP = x

x – 530

x – 510
=

1

2

2x – 1060 = x – 510

CP = x = 550

7. (D) Let CP = x

400 – x

500 – x
=

1

5

200 – 5x = 500 – x

4x = 1500

x =
1500

4
 = 15 × 25 = 375

8. (A) Let CP = x

717 – x

x – 527
=

10

9

6453 – 9x = 10x – 5270

19x = 11723

C.P. = x =  617

Solution

S.P. = 617 × 
110

100
 = 678.7

9. (A) ATQ,
(1100 – CP) = 3(CP – 700)
1100 – CP = 3CP – 2100

 4CP = 3200   CP = 800

Required SP = 800 × 
9

8
= 900

10. (D) ATQ, CP – 115 = (104 – CP) × 
120

100

CP =
1199

11
CP = 109

If SP is 130.80 then

Profit % =
21.8

109
 × 100 = 20%

11. (C) Loss = x
310 – x = 230 + x
2x = 80
x = 40
Cost price = 230 + 40 = 270
Selling price = 180

Loss % = 
270 180

270
× 100

= 
90

270
× 100 = 

1
33

3

12. (B) 123.40 – 6p = 108 + 5P
15.4 = 11P
P = 1.4
CP = 108 + 7 = 115
SP = 120.75

P = 
5.75

100
115

 P = 5%

13.(D) Loss = x Profit = 3x

400 C.P. 480

 4x = 80

 x = 20

So, C.P. = ` 420

14. (A) 8800 – P = 7200 + P

2P = 1600
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P = 800

CP = 8000

SP = 9600

Profit% = 
1600

100
8000

= 20%

15.(D)  23% = ̀  575

  123% = 
575

23
 × 123 = ̀  3075

16. (D) C.P. S.P. zNew C.P

100 270    120

Profit = 270 – 120 = 150

= 
150

100
120

= 125%

17. (D) Let CP ̀  x
(540 – x) = (x – 370)
2x = 910
x = ̀  455
SP = 910
Profit = 455

% = 
455

100
455

 = 100%

18.(B) Let the cost price of article be ` x
Profit percentage = 32%

 Selling price = 
132

100
 × x = ` 

132x

100

   Now Cost price = 
120

100
 × x = ` 

120x

100

New profit = ` 
132 120

x – x
100 100

= ` 
12

x
100

Profit % =  

12x

100 100
x

 = 12%

19.(C) Let Cost price of an article be ` x.

and selling price of an article = ` 96   [given]

According to the question,

x – 96

x
 ×  100 = 

1

4
x

                    400x – 96 × 400 = x²

                    x² – 400x + 38400 = 0

                    x² – 160x – 240x + 38400 = 0

                    x(x – 160) – 240(x – 160) = 0

                    (x – 160)(x – 240) = 0

        x = 160 or 240

Hence, the cost price of an article is either

` 160 or ̀ 240.

20.(C) (16 + 8) = 24%  660

                  1%  27.5

          100%  2750

           2750  3080

Profit% =
330

2750
 × 100

= 12%

21. (B)

23  1104

1  48

 C.P = 48 × 100 = 4800

22. (D) C.P. = 3750

Profit =
607.5

3750
× 100 = 16.2%

Total Profit = 13% + 16.2%
= 29.2%

23.(B) CP
100

SP
110
112

× 100 = CP
77

2

= 3850

24. (D) let C. P is 100
25% profit
than S. P = 125

But the buys at half therate than  CP =
100

2
=50

CP = 50
SP = 125

% of Profit = 
SP CP

100
CP




= 
125 50

100
50




= 150%

25. (B) Selling price of fan = 1900
Loss = 5%

Cost price of fan = 
100

1900
95

 = 2000

Profit = 20%

Selling price of fan = 2000 × 
120

100
 = 2400
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26. (C) CP SP Profit
100 330 230
After 150

% P = 
330 150

150
× 100 = 

180

150
× 100 = 120%

27. (D) Cost price of table = 2700× 
100

90
= 3000

gain = 
1

33
3

%

= 
1

3000 133
3



= 
400

3000
3



= 4000 ur.

28. (A) Let the cost price =` 100

Then selling price = 
100 150

100
 = 150

A.T.Q.
C.P. = 200
S.P. = 75
Loss = 200 – 75 = 125

Loss% = 
125

100
200

 = 62.5%

29. (C) Cost Price = 105 × 
100

100 30

= 
100

105
70

 = ` 150

Selling Price = 
150 130

100
 = ` 195

30. (B) 8%

15%

7% = 714

1% = 714/ 7

118% = 
714

118
7

 = 12036

31. (C)
100

98

120

22 - 44

1  -  2

100 -  200`

32.(A) Let C.P = 3x

New S.P = 2x

Originel S.P. = 2x5 
3

1
 = 6x

60%% of original S.P = 6x × 
60

100
 = 3.6x

% Profit = 
.6x

3x
 × 100 = 20%

33.(D)
CP
80

88

SP
100

108

10% 8%

Profit% = 
20

88
 × 100

= 
500 250

22 11

= 22.7%

34. (D)
14.4 1.6 125

125
90 10

 = 20

35. (B) Required SP = 
70000

130
125

= 72800

36. (A) Required SP = 
7160

130
80

= ̀  11,635

37. (C) ATQ (125% – 85%) = 800

 CP = 
800

40
×100 = ̀  2000

38. (C) Let CP = ` x

ATQ,

12000 x
100

x
= 

x 9000
100

x

 x = 
12000 9000

2
= ̀  10,500

So,

SP at 20% profit = 10,500 × 
6

5
= ̀  12,600

39. (D) 4y

CP

3y
87507000

7y = 1750

y = 250

CP = 8000
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= 
8000 10

100
 = 800

 8000 + 800 = 8800

40. (A)
x

CP
100

= 720 ........(i)

x 5
CP

100
= 750 ........(ii)

Equation 
2

1
 then

x 5

x
= 

75

72

x = 120

41. (A) CP SP

100 92
18.5

110.5

= 
37

18.5
× 100 = 200

42. (D) ATQ,

CP SP

5x

12
          x

5x

12
         

x

3

% Profit = 

x

12
100

5x

12

= 20%

43.(A) C.P. = 100%

S.P.
I 
 =130%

S.P.
II 
 =90%

S.P.
I 
–  S.P.

II 
= 130 – 90 = 40%

40% = 60

130% = 
60

40
 × 130 = ̀  195

44. (C) CP SP Pr ofit

100 125 25
Initial

New 120 137.5 17.5

Required % = 
17.5

100
120

 = 14.6%

45. (B) 4% (20% – 16%) of CP = 36°

CP = 900

46.(A) C.P. S.P.

 100 110

 96 96 × 
3

118
4

� = 114 

114 – 110 = 4    10

1    
5

2

  100    
5

2
 × 100 = 250

47.(A) C.P. S.P.

 100 120

 90 90 × 
130

100
 = 117

 120 – 117 = 3  12

  1  4

  100  400

C.P. = 400

48.(A) C.P. S.P.

 100 125

 75 75 × 
125

100
 = 125 × 

3

4

 125 – 125 × 
3

4
=

125

4
  25

      1   
4

5

  100   
4

5
 × 100 = 80

C.P. = 80

49.(A) C.P. S.P.

 100 110

 90 90 × 
125

100
 = 112.5

 112.5 – 110 = 2.5    3

    1    
6

5

      100    
6

5
 × 100 = 120
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50.(A) C.P. S.P.

 100 110

 90 90 × 
125

100
 = 112.5

 112.5 – 110 = 2.5    3

    1    
6

5

 C.P. = 100  =  
6

5
 × 100  = 120

51. (A) CP

24 — 660

1 — 27.5

112% — 3080

52.(A) CP SP

100 110

80 112
2 1000

1 500

CP of article = 100 × 500

= 50000

53. (D) CP
1
 = 100  10% 110

 CP
2
 = 80  40% 112 2  1000

1  500

 110 55000

54. (B) Let CP = 

40% 20%

140

8%

20%

112

120

100

Given 8% —24
1%—3
100%—300
CP = 300

55. (C) MR SP CP
100 130 120
10  8

1 
8

10
× 

16 articles = 16 × 80 = 1280

56.(B) CP
100

SP
84
114
125

30

 
33

30
 × 125

= 137.5

57. (C) CP                    SP

100x                130x

100x – 100      130x – 100

(100x – 100) × 
145

100
 = (130x – 100)

145x – 145  = 1630 x – 100

15x = 45

x = 3

CP = 100x = 300

58.(A) Let   C.P.
1
 = ` 100x

then S.P.
1
 = ̀  115x

ATQ,

    If C.P.
2 
= ` 93x

 then S.P.
2 
= 115x + 250

 also S.P.
2 
= 125% of 93x

then 
125

100
 × 93x = 115x + 250

465x = 460x + 1000

       x = 200

then C.P. = 100 × 200 = ̀  20,000

59. (B) ATQ,

30% = 332

CP = 100% = 
332

30
× 100

Initial SP at 10% loss

90% = 
332 90

100
30 100

SP = 996

60. (D) Let CP of article is = 100
ATQ,
CP SP
100 112

12%  = 0.24

88 111.76

Original CP = 
9

100
0.24

 = ` 3750

61. (B) CP SP
100 92
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110.5 18.5

112

= 
92.50

18.5
× 112 = 560

62. (A) CP SP

100 120

40 60 S.P. = 60

+ 20

C.P. = 
90

100
60

C.P. = ` 150

63. (A) C.P. =
1

25
 Rs./ oranges

S.P. =
1

25
 × 

125

100

=
1

20
 Rs./ oranges

It means he sell 1 orange in 
1

20
 rupees.

Then ` 1  1 × 20 = 20 oranges

64. (D) S.P. =
1

32
 Rs./ oranges

Let C.P. = 100

S.P.
1

= 60

S.P.
2

= 100 × 
120

100
 = 120

60 
1

32

1 
1

32 60

120 
1

32 60
 × 120

= 
1

16
rs./ orange

He sell 10 orange in 1
16  rupees

then ` 1   1 × 16 =  16 oranges

65. (A) S.P. =
40

45
 = 

8

9
 Rs./orange

Let C.P. = 100

S.P.
1

= 80

S.P.
2

= 120

80 
8

9

1 
1

90

120 
1

90
 × 120

= 
4

3
rs./ orange

He sells 3 orange in ` 4

In  ` 24 he sells = 24 × 
3

7
 = 18 orange

66. (A) Cost price = 
60 100

64 125
 = ` .75

Apples sold = 36 × 
100

.75 60
 = 80 Apples

67. (A) ATQ,

90% = 2160

100% = 2400 (CP of 48 articles)

CP of one article = 50

for 12% profit SP = 56

Number of article = 
2016

56
 = 36

68. (C) Let SP = 100

4

5
 of SP = 

4

5
 × 100 = 80

10% loss


9

10
 CP = 80  CP = 

800

9

Profit % = 

800
100

9
800

9

× 100

= 
100/9

800/9
 × 100 = 

100

8
 = 12.5%


